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LAW
Paper - I1

1. The preamble to Constitution is the | 3.
‘Horoscope of our Sovereign Democratic
Republic’, said by :

(A) Dr. KM. Munshi @)
(B) Dr. B.R. Ambedkar
(C) Sir B.N. Rao ®)
(D) Dr. Rajendra Prasad

(c)

2. Read Assertion (A) and Reason (R)
and answer using the codes given @)
below :

Assertion (A) :
Art. 14 of the Constitution of India does
not lay down that all laws must have
universal application.
Reason (R) :
4.
State has the power to classify a person
for legitimate purpose and on
reasonable grounds.
Codes :
(A) (A) and (R) are right and (R) is
the correct explanation of (A).
(B) (A) and (R) are right, but (R) is
not the correct explanation of (A).
(C) (A) is right, but (R) is wrong.
(D) (A) is wrong, but (R) is right.

Paper-II

Match List-I with List-IT and select the
correct answer using the codes given

below :

List-I List-11
Reservation for (1) Ashoka Kumar
women in State Thakur Vs
Employment Union of India
Creamy layer (i1} Union of India Vs
concept did not Naveen Jindal
apply to SCs
and STs.

Right of a (iii) K.A. Abbas Vs

citizen to Fly Union of India

the National

Flag
Prioy- (iv) Govt.of A.P. Vs
censorship of P.B. Vijaya Kumar
film
Codes :
(2) (b) (¢) (d)
(A) vy () () @)
(B) (i) @) (v) ()
(C) (i) @) @Gv) (@G
D) Gv)y (i) G) Q)

Match List-I with List-IT and select
the correct answer using the codes
given below :

List-I List-IT
(a) Art. 54 (i) Manner of election of
President

(b) Art. 55 (ii) Eligibility for
re election of President
() Art. 56 (iii) Election of President

(d) Art. 57 (iv) Term of office of
President
Codes :
(@ () () (@
(A (i) (1) () (iv)
(B) (i) @) @Gv) Gi)
(O (1) (i) v @)
M Gv) @) () (i)
B-14-17




Art. 245 has been interpreted on the
basis of :

(A) Doctrine of Colou;able Legislation
(B) Doctrine of Eclipse
(C) Doctrine of Territorial Nexus

(D) - Doctrine of Pith and Substance

Which of the following will be the
consequences of the declaration of
National emergency by the President ?

(a) The President can issue directior_ls
of the State Executive

(b) The President can extend the
normal term of Lok Sabha

(¢¢ The President can modify
distribution pattern of financial
resources between the centre and
states

(d) The President can suspend all the
Fundamental Rights of Citizens.

Codes :

(A) (@, (b) and ()
(B) (a), (b) and (d)
(C} (@ and (@

(D) (b} and (d)

Paper-1I
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Read Assertion (A) and Reason (R)
and answer using the codes given
below : '

Assertion (A) :

The constitutional position of the
Governor of a State is the same as that
of the President of the Union.

Reason (R) :

Theoretically, he 1is the chief
administrator but practically he can
hardly do anything in the
administration except under special
circumstances.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Right to enjoy legally possessed land
18 : :

(A) Right in rem
(B) Right in personam
(C) Right in land

(D) Moral right

A time barred promissory note stand
for :

(A) Perfect Right
(B) Imperfect Right
(C) Positive Right
(D) Negative Right

B-14-17
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10. Which proposition below can be

11.

12.

characterised as most powerful
refutation of Bentham’s argument in
support of codification ?

(A) Law is too complex to be codified
(B) Codification ossifies the law

(C) Bentham fails to take account of
the law

Significant portions of the law are
already codified

D)

Match the following :
Theory Philosopher
(a) Natural Law (i) Kelson
(b) Realism (1) Savigny
(c) Historical (iii) Holmes
School
(dY Pure Theory (iv) Austin
(v} Thomas
Aquinas
Codes :
- (@ (b)) () ()
(A) (i) @) @) (@)
B & G 3G @
(C) W (i) @Gv) (i)
D) @) (i) Gv) @
Match the following :
Book - Author
(a) Concept of Law (i) Austin

(b) The Province
of law determined
{¢) Introduction to

Jurisprudence
(d) Legal Theory

(i) Friedman
(iii) HLA Hart

(iv) Bentham

(v) Lloyd
Codes :
(@ (b) () (@)
A vy @ @G (ii)
(B) Gv) @) (v) (i)
€ Gi) @ () (i)
D) (i) @) vy @

Paper-I1

13.

14.

Two statements are given below. One
labelled as Assertion (A) and the other
as Reason (R). Examine the statements
and select the answer using codes given
below : '

Assertion (A) :

Law consists of rules in accordance with
reason and nature.

Reason (R) :

Because the rules for human conduct
are logically connected with truths
concerning human nature.

Codes :
{A) Both (A) apd (R) are false
(B) (A) is true, but not (R)

(C) Both (A) and (R) are true and
(R) is correct explanation of (A).

Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

D)

Choose the correct correlative of
“liberty” from the alternatives given
below :

(a) Power

(b} Right

(c) No right

(d) Duty

{(e) No claim

() No duty

Codes :

(A) (a), (¢) and (@)

(B) (c) and (e)

(€ (0, (d and (e)

D) (), (@), () and ()
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15.

16.

17.

18.

The Secretary General of the United

Nations is appointed :

(A) By the General Assembly on the
recommendation of Security
Council

(B) By the General Assembly on the

recommendation of International

Court of Justice

In a Joint Session of Security

Council and General Assembly

By the permanent members of

Security Council

©

)

The International Court of Justice
exercises its contentious jurisdiction :
(A) If parties to a dispute agree on the
basis of a treaty

If parties have accepted the court’s
jurisdiction under optional clause
Article 36 (2)

If the UN General Assembly
requests an advisory opinion of the
dispute

Whenever the court deems fit

(B)

(€)

(D)

The members of Human Rights Council

who are elected directly and
individually :
(A) By the majority of the members of

the General Assembly of U.N.

By the majority of the members of
the security council of U.N.

Both (A) and (B)

None of the above

(B)

(C)
)

The material sources of International

Law are :

(A) Custom and Juristic works

(B) Treaties and Decisions of judicial
or arbitral Tribunal

(C) Decisions of the organs of

International Institutions

(D) All the above

Paper-II

19.

20.

21.

GG TAL A A UL

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R). Match the
correct one.

Assertion (A) :

Settlement of International Disputes 1s
done by United Nations.

Reason (R) :

Because U.N. is a Court.

Give correct answer from the following
codes.

(A) Both (A) and (R) are true
(B) (A) is true, but (R) is false
(C) (A) is false, but (R) is true
(D) Both (A) and (R) are false

Using the code given below match
List-1 and List-II.
List-1 List-IX
(a) Recognition (1) Roosevelt
and
Churchill
(b) Sovereignty (it} Veto Power
(¢) Security (ii1) Belligerency
Council
(d) Atlantic (iv) Independence
Charter
Codes :
(a) (b) (c) (d)
A) () Gi) vy @
M) @) @Gv) Gy @
© @ @) @Gy Gv)
(D) Gv) @iy @)
“YVivada Chintamani” is a Nibandha

work of :

(A) Vachaspati Misra
(B) Chandeswara

(C) Varadarajo

40))

Devanna Bhatta
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22. The daughter is made a coparcener by :

(A) The Hindu Succession
(Amendment) Act, 2003

(B) The Hindu Succession
(Amendment) Act, 2005

(C) The Hindu Succession
(Amendment) Act, 2007

(D) The Hindu Succession
(Amendment) Act, 2009

23. Desertion is a :
(A) Total repudiation of obligation of
marriage
(B) Partial repudiation of obligation of
marriage
(C) Both (A) and (B)
(D) Only (A)

24. Bigamy under the “Hindu Marriage
' Act, 1955” includes :
(A) Polygamy i.e., having more than
one wife
(B) Polyandry i.e., having more than
one husband
(C) Both (A) and (B)
(D) Only (&)

25. Assertion (A) :

Bigamous marriage is void under Hindu
Law.

Reason (R) :

A child born out of void marriage is

legitimate child of his parent.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Paper-I1

26. Using the code below match List-I and

List-II.
List-I List-II
(a) Sahih (i) To put off
(b) Batil (ii) Guardianship
{c) Jabar (i1i) Void
(d) Khula (tv) Valid
Codes :
(a) (b) (c) (d)
A @ @) (W) @Gv)

(B) (i) @iy @Gv) (1)
(@ Gv) Gi) @) @)
@) (i) ) @ (v

27. A general offer is an offer which :

(A) contains terms and conditions of
contract

(B) does not intend to create legal
relation

(C) is made to public at large and may
be accepted by any one

(D) only in form of advertisement of
goods

28. Match List-I with List-II and select the
correct answer using the codes given
below the list :

List-I (Case)

(@ Upton Rural
District Council
Vs Powel

() Cundy Vs Lindsay (ii) Rules for general
and special
damages

(ii1) Implied contract

List-IT (Topic)
(i) Immeoral contract

(c) Fender Vs St.
John Mildmay

(d) Hadley Vs
Boxendale

{iv) Mistake of identity

Codes :

(a) (b) (c) (d)
(A Q) () @Gv) @
B) Gv) () @) (i)
© Gi)) @) G(v) @)
D) (i) Gv) O (D)

B-14-17




29.

30.

31.

A contract is void if the consent to which
is induced by :

(A) Misrepresentation

(B) Mistake

(C) Fraud

(D) Coercion

Law of contract covers the enforcement
of :

(a) all kinds of obligations - moral and
legal

(b) only obligations imposed by law

(¢) Voluntarily created civil
obligations

(@) Obligations similar to contractual
obligations

Codes :

(A) (a) and (d)

(B) Only (a)

(C) Only (o

D) (c) and (d)

Given item consists of two statements
one labelled as Principle (P) and the
other labelled as Reason (R). Examine
these two statements carefully and
select the answer by using codes given
below :

Principle (P) :

When a contract becomes void, any
person who has received any advantage
under such contract is not bound to
restore it to the person from whom he
received it.

Reason (R) :

This principle is intended to enable
the party to a void contract to retain the
benefits received under it.

Codes :

(A) Both (P) and (R) are true and
(R) is the correct explanation
of (P)

Both (P) and (R) are incorrect
(P) is correct and (R) is false

(R) is correct and (P) is incorrect

(B
©)
(D)

Paper-I1

33.

AL R

32. Sequence the following in their order :

(a) Remedies for breach
(b) Negotiations

(¢) Agreement

(d) Breach of agreement
Codes :

(4) (a), (), () and (d)
®) (), (c), (d) and (a)
©) (@), M), (@ and (a)
D) (@), ©), () and (a)

Match the following List-I with List-IT
and choose the correct answer using
the codes given below the lists.

List-1 List-I1
(Principle) (Case)

(a) Damnum (i) Ashby Vs
sine injuria White

(b) Absolute
liability

(i) Gloucester
Grammar
School case

(¢) Injuria sine (iii) Reyland Vs
damnum Fletcher
(d) Act of god (iv) Nichols Vs

Marsland

Codes :

@ ) © @@
A @ @) G Gv)
B) @) i) @ @
© Gv) G @ G
D) @) @ v @)
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34. Assertion (A) :

35.

36.

Tort is a civil wrong redressible by an
action for unliquidated damages only.

Reason (R) :

Law does not provide compensation in
the nature of liquidated damages.

Codes :

(A) Both (A) and (R) are true and
(R) 1s the correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D)} (A) is false, but (R) is true

The legal maxim Qui facit per alium facit
per se means :

(A) The act of an agent is the act of
principal

(B) The act of husband is the act of
wife

(C) The act of a master is the act of a
servant

(D) All the above

Ashby V. White case stands for :
(A} Damnum sine injuria

(B) Negligence

(C) Injuria sine damnum

(D) Recklessness

Paper-I1

317.

38.

39.

Volenti non fit injuria means :

(A) The sufferer does not know the
risk in act

(B) Damage suffered by consent is not
a cause of action

(C) The sufferer does not know the
risk in act, but invites it

(D) The injured suffered the risk
under the influence of intoxication

Damnum sine injuria means :
(A) Damage without injury
(B) Injury without damage

(C) Both (A) and (B)

(D) All the above

Match List-I (Jurists) with List-I1
(Assumptions) and select the correct
answer using the codes given below :

List-I List-II
(a) Lord (1)  Preparation of
Macauley Penal Code of
India
(b) Bentham (ii) Unwritten

Jurisprudence on
Penal Principles

() Kelson (iii) Substantive law
on crimes
(d) Sir Barnes (iv) Revision of penal
Peacock law
Codes :

(@ () () @
A @ G) Gi) (@v)
B ) @O vy 3ii)
€ (i) Gv) @)  Gi)
D v) @ @) @)

B-14-17
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41.

42,

43.

ERGY

Assertion (A) :

Right of private defence extends to
causing death if property sought to be
protected is public property.

Reason (R) :

Public property must be protected even
at any cost.

Codes :

(A) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is a correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

P. Rathinam Vs Union of India, (1994)
3 SCC 394 refers to:

Public hanging

(B) No right to commit suicide

(C) Capital Punishment

(D) Punishment for attempt to commit
suicide is unconstitutional

R.V. Daniel Mc Naughten, refers to :

(A) Doli in capax :

(B) Defence of insanity

(C) Defence of intoxication

(D) Plea of private defence

‘X’ puts his hand into the pocket of Y
with an intention to steal the purse of
‘Y’ and finds nothing in the pocket.
What offence ‘X’ has committed ?

(A) Theft

(B) Extortion

(C) No offence

(D) Attempt to theft

Paper-I1
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44.

45.

46.

T

Sexual intercourse by a man with a
woman even with her consent is a rape
if she is below age of :

(A)
©

(B)
(D)

17 years 16 years

19 years 18 years

Assertion (A) :

Only a section of labour force is
protected under section 17 of the trade
union Act. :

Reason (R) :

Protection is available only to office
bearers and member of registered trade
unions.

Codes :

(A) Both (A) and (R) are true and
(R) is a correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) 1s true

An individual dispute becomes an
industrial dispute when it is espoused
by :

(a) a trade union

(b) the appreciable number of
workmen

(¢) falls under section 2A of the
Industrial Dispute Act.

(d) 10% of the work force in the

concerned establishment
Codes :
(A) (a), (c) and (d) are correct
(B) (b) and (c) are correct
(C) (a), {(b) and (c) are correct
(D) Only (d) is correct
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47. Match the List-I with List-II. Use the 49. Which one of the following statement is

code given below : true ?
List-T List-1T (A) All Govt. departments are
(Subject)  (Judicial Decisions) industries.

(a) Right to (1) University of (B) No Government department can
strike Delhi Vs Ramnath be industry.

(b) Industry (i) Gujarat Steel (C) Government department carrying

Tubes Vs G.S.T.

on business or trade may be
Mazdoor Sabha Y

industry.
Lay-off iii) Pipraich S -
(@ Lay-o ) ﬁ%%‘; P Su gar (D) Government department carrying
Mazdoor U;lion on only sovereign function may be
industry,

(d) Retrenchment (iv) Workmen Vs
Tirestone tyre

and Rubber Co. 50. The verdict of the Labour Court in

Codes : industrial dispute is described as -
(@ “(b) () (@) (A) Judgement (B) Decree
A) (i) v) @) @) :
® Gv) G i) 6 (C) Award (D) Relief
€ @ @ Gv) (i)
(D) Gv) @) Gi) @) -00o0-

48. No person employed in a public utility
service shall go on strike :

(a) Without giving notice of strike to
employer

(b) After 14 days of giving such notice

(c)  After the expiry of date specified
in notice for strike

(d) Within 7 days of conclusion of
conciliation proceedings

Codes :

(A) (a) and (d)
(B) (a) and (¢)
(C) (a) and (b)
(D) (b) and (c)

Paper-II . 11 ' _ - B-14-17
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